A EEREREERIAYIES | REk
ROBHR. FRTFEZERISREERRGUEZHET S,
B RERR B R R R E

D EE7E 60km/h GE5E)
@ EE

7:00 ~ 9:00 40km/h

285% 11:00 ~ 13:00 | "%t

14:00 ~ 16:00
QR BEEERE/\EE 60km/h GEE)

XBFHWELOTLDIHAFHETH, BFRREFOEEERRMYEZERMICITI,

re_ P F¥ V¥ Jy F¥ F¥ F¥ F¥ ¥ ¥ 29 F¥ F¥ F¥ FF ¥ ¥ F¥ F¥ ¥ Py FF F¥ F¥ ¥ F

ERDAEXBEREERR (FTHSELYFH)

e = B3 RS BERR == & iz BE =E=E & E A

13 26 A 15:25 Ll SE (e = U~ E2H|— B A~ 1= 1b
2 3 2 B2 14:00 T =g 1=} ZE ||\ 5 A~ =E 7R
2 3 6 R 7:40 HT iE ([HE = U~ 2H|=Zz=Z = A~ #E 52
2 3 9 R 12:40 FEHEA/JNEBRSB#ER|(IE T T8 =2E=||#H4A= 181 58 17
2 3 9 R 15:07 T 3E (IE mm & E|HS Al &8 77
243 15 2 7:59 BN OHE D= E ORR|HGS | ME =S #== xR
23 17 A 15:15 HT 3E (IE m|m fE ZE || 5 A =E xR
283 20 3 18:35 = Ev=—gF1=1 %;Z;%
43 16 A 11:50 *=r iE (HE = U~ 2H|=Zz=Z = A~ #E 52
a3 21 8 14:10 El & 285 S (1E ™ & =z=E|#HA 181 58 17
5 843 1 B9 17:30 T 3 (IE | & ZE || 5 A~ =E RR
5 43 3 B2 11:56 5E = =5 P9 (& B B 13 Ak | 2= == A~ 8E 5&2
54 13 3 8:55 BN OHE D= E OBER|IBE ZE2 ||\ F5 A= == ¥R
6 H 7 R4 8:as8 T SE ([HE = U~ 2H|Z=Z = A~ ' 5&2
6 3 17 A 7:15 5E = =5 P9 (& B B 132 A | 2= == A~ fE 52
6 3 23 A 12:10 ;*i g ?ﬁ' Z.g H = o~ 2B |5 S 4 xR
6 3 23 A 18:15 T =g 1=} ZE ||\ 5 A~ =E 7R
6 H 26 A 16:50 T 35 (1B wEm fEr ZE | =:h FF -~ =E xR
6 327 R4 10:50 BT iE ([HE = U~ 2H|=Zz=Z = A~ #E 52

CEE]
OFMSFLF M. ABFHIIFR7ENSFERTBRETORICRELTEY., FHICRED
EhorRRmEERKFMTEL,
OFMAETHH. EE7STOHDAGERNRELIEND, FHSELFHIER
BRIREL THIYERBLIIER . ASEROFEENNZ N1, BT D,
OEE285 5 TlE. FHAFTHHIC2¢, FHSFELFHICTHDASERNRELS,
OFH4E. RERRE/\ B TR EEBBEZHIRBRTERNREL

KRBERFAERRFZHEZ . MOBRRTHREERIFEIZITOES




